
Part # Qty Description

162287 304SS - Standard Post Bracket - Straight

162288* 304SS - Standard Post Bracket - Straight - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162281 304SS - Standard Post Bracket - Half

162282* 304SS - Standard Post Bracket - Half - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162283 304SS - Standard Post Bracket - Left Hand

162284* 304SS - Standard Post Bracket - Left Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162285 304SS - Standard Post Bracket - Right Hand

162286* 304SS - Standard Post Bracket - Right Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished
* Alternate Round Handrail Bracket

Part # Qty Description

271297 1 Straight Bracket (Aluminum Press In Cap Flat Top)

311039 2 1/4-20 x 1/2" Phillips Flat Head

271296 1 Half Bracket (Aluminum Press In Cap Flat Top)

311039 2 1/4-20 x 1/2" Phillips Flat Head

162285 1 90 Degree Bracket (Aluminum Press In Cap Flat Top)

311039 2 1/4-20 x 1/2" Phillips Flat Head

2

2

1

1

1

1

2

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
CC

oorr
nnee

rr    
      

      
      

      
      

      
      

      
      

      
      

      
      

  
BBrr

aacc
kkee

tt  

SSttaannddaarrdd  UUnniivveerrssaall  TToopp  PPoosstt  ((AAlluummiinnuumm  PPoosstt))

SStt
rraa

iigg
hhtt

  BB
rraa

cckk
eett

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
RR

iigg
hhtt

  CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt

LLee
fftt  

CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt

SSttaannddaarrdd  FFllaatt  TToopp  PPoosstt  ((AAlluummiinnuumm  PPoosstt))

SStt
rraa

iigg
hhtt

  
BBrr

aacc
kkee

tt

2

Part # Qty Description

162287 304SS - Standard Post Bracket - Straight

162288* 304SS - Standard Post Bracket - Straight - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162281 304SS - Standard Post Bracket - Half

162282* 304SS - Standard Post Bracket - Half - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162283 304SS - Standard Post Bracket - Left Hand

162284* 304SS - Standard Post Bracket - Left Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162285 304SS - Standard Post Bracket - Right Hand

162286* 304SS - Standard Post Bracket - Right Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished
* Alternate Round Handrail Bracket

Part # Qty Description

271297 1 Straight Bracket (Aluminum Press In Cap Flat Top)

311039 2 1/4-20 x 1/2" Phillips Flat Head

271296 1 Half Bracket (Aluminum Press In Cap Flat Top)

311039 2 1/4-20 x 1/2" Phillips Flat Head

162285 1 90 Degree Bracket (Aluminum Press In Cap Flat Top)

311039 2 1/4-20 x 1/2" Phillips Flat Head

2

2

1

1

1

1

2

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
CC

oorr
nnee

rr    
      

      
      

      
      

      
      

      
      

      
      

      
      

  
BBrr

aacc
kkee

tt  

SSttaannddaarrdd  UUnniivveerrssaall  TToopp  PPoosstt  ((AAlluummiinnuumm  PPoosstt))

SStt
rraa

iigg
hhtt

  BB
rraa

cckk
eett

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
RR

iigg
hhtt

  CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt

LLee
fftt  

CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt

SSttaannddaarrdd  FFllaatt  TToopp  PPoosstt  ((AAlluummiinnuumm  PPoosstt))

SStt
rraa

iigg
hhtt

  
BBrr

aacc
kkee

tt

2

Universal Top Post - Aluminum

Flat Top Post - Aluminum

Standard Handrail Brackets

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023
1© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail 1© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023



Part # Qty Description

162287 304SS - Standard Post Bracket - Straight

162288* 304SS - Standard Post Bracket - Straight - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162281 304SS - Standard Post Bracket - Half

162282* 304SS - Standard Post Bracket - Half - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162283 304SS - Standard Post Bracket - Left Hand

162284* 304SS - Standard Post Bracket - Left Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162285 304SS - Standard Post Bracket - Right Hand

162286* 304SS - Standard Post Bracket - Right Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished
* Alternate Round Handrail Bracket

Part # Qty Description

162280 1 304SS - Flat Top Post Bracket - Straight

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

312880 1 304SS - Flat Top Bracket - Half Bracket

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

312880 1 304SS - Flat Top Bracket - Half Bracket

162277 1 304SS - Flat Top Post Bracket - C Inset

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

SSttaannddaarrdd  UUnniivveerrssaall  TToopp  PPoosstt  ((330044SSSS  PPoosstt))

SStt
rraa

iigg
hhtt

  BB
rraa

cckk
eett

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
RR

iigg
hhtt

  CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt

LLee
fftt  

CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt

2

2

1

1

1

1

2

2

CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt  

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt

SSttaannddaarrdd  FFllaatt  TToopp  PPoosstt  ((330044SSSS  PPoosstt))

SStt
rraa

iigg
hhtt

  
BBrr

aacc
kkee

tt

Part # Qty Description

162287 304SS - Standard Post Bracket - Straight

162288* 304SS - Standard Post Bracket - Straight - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162281 304SS - Standard Post Bracket - Half

162282* 304SS - Standard Post Bracket - Half - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162283 304SS - Standard Post Bracket - Left Hand

162284* 304SS - Standard Post Bracket - Left Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

162285 304SS - Standard Post Bracket - Right Hand

162286* 304SS - Standard Post Bracket - Right Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished
* Alternate Round Handrail Bracket

Part # Qty Description

162280 1 304SS - Flat Top Post Bracket - Straight

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

312880 1 304SS - Flat Top Bracket - Half Bracket

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

312880 1 304SS - Flat Top Bracket - Half Bracket

162277 1 304SS - Flat Top Post Bracket - C Inset

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

SSttaannddaarrdd  UUnniivveerrssaall  TToopp  PPoosstt  ((330044SSSS  PPoosstt))

SStt
rraa

iigg
hhtt

  BB
rraa

cckk
eett

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
RR

iigg
hhtt

  CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt

LLee
fftt  

CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt

2

2

1

1

1

1

2

2

CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt  

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt

SSttaannddaarrdd  FFllaatt  TToopp  PPoosstt  ((330044SSSS  PPoosstt))

SStt
rraa

iigg
hhtt

  
BBrr

aacc
kkee

tt

Universal Top Post - 304SS

Flat Top Post - 304SS

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023
2© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail 2© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023



Part # Qty Description

215430 2205SS - Standard Post Bracket - Straight

215432 2205SS - Standard Post Bracket - Straight - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

215424 2205SS - Standard Post Bracket - Half

215425 2205SS - Standard Post Bracket - Half - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

215426 2205SS - Standard Post Bracket - Left Hand

215427 2205SS - Standard Post Bracket - Left Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

215428 2205SS - Standard Post Bracket - Right Hand

215429 2205SS - Standard Post Bracket - Right Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished
* Alternate Round Handrail Bracket

Part # Qty Description

215423 1 2205SS - Flat Top Post Bracket - Straight

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

215420 1 2205SS - Flat Top Post Bracket - Half

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

215420 1 2205SS - Flat Top Post Bracket - Half

312882 1 2205SS- Flat Top Bracket - C Inset

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
CC

oorr
nnee

rr    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
LLee

fftt  
CC

oorr
nnee

rr    
      

      
      

      
      

      
      

      
      

      
      

      
      

  
BBrr

aacc
kkee

tt

SSttaannddaarrdd  FFllaatt  TToopp  PPoosstt  ((22220055SSSS  PPoosstt))

SStt
rraa

iigg
hhtt

  
BBrr

aacc
kkee

tt

2

2

2

2

SSttaannddaarrdd  UUnniivveerrssaall  TToopp  PPoosstt  ((22220055SSSS  PPoosstt))

SStt
rraa

iigg
hhtt

  BB
rraa

cckk
eett

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
RR

iigg
hhtt

  CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt 1

1

1

1

Part # Qty Description

215430 2205SS - Standard Post Bracket - Straight

215432 2205SS - Standard Post Bracket - Straight - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

215424 2205SS - Standard Post Bracket - Half

215425 2205SS - Standard Post Bracket - Half - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

215426 2205SS - Standard Post Bracket - Left Hand

215427 2205SS - Standard Post Bracket - Left Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

215428 2205SS - Standard Post Bracket - Right Hand

215429 2205SS - Standard Post Bracket - Right Hand - Round HR

480542 1/4"-20 x 3/8" BTN SOC CAP 316 Stainless - Black Finish

242693 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished
* Alternate Round Handrail Bracket

Part # Qty Description

215423 1 2205SS - Flat Top Post Bracket - Straight

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

215420 1 2205SS - Flat Top Post Bracket - Half

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

215420 1 2205SS - Flat Top Post Bracket - Half

312882 1 2205SS- Flat Top Bracket - C Inset

177189 1 5/16" 18-8 Stainless Steel Small OD Extra Thick Flat Washer

167057 1 1/4"-20 Grade 316 Stainless Nylock Nut

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
CC

oorr
nnee

rr    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
LLee

fftt  
CC

oorr
nnee

rr    
      

      
      

      
      

      
      

      
      

      
      

      
      

  
BBrr

aacc
kkee

tt

SSttaannddaarrdd  FFllaatt  TToopp  PPoosstt  ((22220055SSSS  PPoosstt))

SStt
rraa

iigg
hhtt

  
BBrr

aacc
kkee

tt

2

2

2

2

SSttaannddaarrdd  UUnniivveerrssaall  TToopp  PPoosstt  ((22220055SSSS  PPoosstt))

SStt
rraa

iigg
hhtt

  BB
rraa

cckk
eett

HH
aall

ff    
      

      
      

      
      

      
      

      
      

      
      

      
      

      
BBrr

aacc
kkee

tt
RR

iigg
hhtt

  CC
oorr

nnee
rr    

      
      

      
      

      
      

      
      

      
      

      
      

      
  

BBrr
aacc

kkee
tt 1

1

1

1

Universal Top Post - 2205SS

Flat Top Post - 2205SS

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023
3© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail 3© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023



Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

162723 1 VR453/454 Handrail Bracket Top Plate

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

160373 1 VR453 Handrail Bracket Cover

348214 1 VR453 Handrail Bracket Wall Mount Plate

311039 1 1/4-20 x 1/2" Phillips Flat Head

306688 4 Stainless Steel Wood Screw

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

352620 1 VR453/454 Handrail Bracket Top Plate (Round)

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

160373 1 VR453 Handrail Bracket Cover

348214 1 VR453 Handrail Bracket Wall Mount Plate

311039 1 1/4-20 x 1/2" Phillips Flat Head

306688 4 Stainless Steel Wood Screw

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

626101 2 Quick Slide Flat Top Plate Nut - Gen 2

605955 1 Alum Handrail Quick Slide Bracket

631882 Quick Slide Flat Top Screw Black Anodized - Gen 2

637106 Quick Slide Flat Top Screw Clear Anodized - Gen 2

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

160373 1 VR453 Handrail Bracket Cover

348214 1 VR453 Handrail Bracket Wall Mount Plate

311039 1 1/4-20 x 1/2" Phillips Flat Head

306688 4 Stainless Steel Wood Screw

2

Q
ui

ck
 S

lid
e

KKii
tt  CC

oonn
ttee

nntt
ss

S
td

 F
la

t

PPoo
sstt

  MM
oouu

nntt
eedd

      
      

      
      

      
      

      
      

      
      

      
SStt

aann
ddaa

rrdd
  HH

aann
ddrr

aaii
ll

S
td

 R
ou

nd

PPoo
sstt

  MM
oouu

nntt
eedd

      
      

      
      

      
      

      
      

      
      

    
RR

oouu
nndd

  HH
aann

ddrr
aaii

ll

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

162723 1 VR453/454 Handrail Bracket Top Plate

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

160373 1 VR453 Handrail Bracket Cover

348214 1 VR453 Handrail Bracket Wall Mount Plate

311039 1 1/4-20 x 1/2" Phillips Flat Head

306688 4 Stainless Steel Wood Screw

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

352620 1 VR453/454 Handrail Bracket Top Plate (Round)

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

160373 1 VR453 Handrail Bracket Cover

348214 1 VR453 Handrail Bracket Wall Mount Plate

311039 1 1/4-20 x 1/2" Phillips Flat Head

306688 4 Stainless Steel Wood Screw

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

626101 2 Quick Slide Flat Top Plate Nut - Gen 2

605955 1 Alum Handrail Quick Slide Bracket

631882 Quick Slide Flat Top Screw Black Anodized - Gen 2

637106 Quick Slide Flat Top Screw Clear Anodized - Gen 2

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

160373 1 VR453 Handrail Bracket Cover

348214 1 VR453 Handrail Bracket Wall Mount Plate

311039 1 1/4-20 x 1/2" Phillips Flat Head

306688 4 Stainless Steel Wood Screw

2

Q
ui

ck
 S

lid
e

KKii
tt  CC

oonn
ttee

nntt
ss

S
td

 F
la

t

PPoo
sstt

  MM
oouu

nntt
eedd

      
      

      
      

      
      

      
      

      
      

      
SStt

aann
ddaa

rrdd
  HH

aann
ddrr

aaii
ll

S
td

 R
ou

nd

PPoo
sstt

  MM
oouu

nntt
eedd

      
      

      
      

      
      

      
      

      
      

    
RR

oouu
nndd

  HH
aann

ddrr
aaii

ll

Standard Flat
Handrail Bracket
PN: 406666

Standard Round
Handrail Bracket
PN: 406673

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

162723 1 VR453/454 Handrail Bracket Top Plate

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

352621 1 VR454 Handrail Bracket Post Mount Plate

306693 1 1/4" Stainless Steel Split Lock Washer

349002 1 1/4-20 x 3/4" Socket Head Cap Screw - Stainless Steel

138930 1 Steel Plug

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

352620 1 VR453/454 Handrail Bracket Top Plate (Round)

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

352621 1 VR454 Handrail Bracket Post Mount Plate

306693 1 1/4" Stainless Steel Split Lock Washer

349002 1 1/4-20 x 3/4" Socket Head Cap Screw - Stainless Steel

138930 1 Steel Plug

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

626101 2 Quick Slide Flat Top Plate Nut - Gen 2

605955 1 Alum Handrail Quick Slide Bracket

631882 Quick Slide Flat Top Screw Black Anodized - Gen 2

637106 Quick Slide Flat Top Screw Clear Anodized - Gen 2

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

352621 1 VR454 Handrail Bracket Post Mount Plate

306693 1 1/4" Stainless Steel Split Lock Washer

349002 1 1/4-20 x 3/4" Socket Head Cap Screw - Stainless Steel

138930 1 Steel Plug

440055334488

S
td

 F
la

t

PPoo
sstt

  MM
oouu

nntt
eedd

      
      

      
      

      
      

      
      

      
      

      
SStt

aann
ddaa

rrdd
  HH

aann
ddrr

aaii
ll

S
td

 R
ou

nd

PPoo
sstt

  MM
oouu

nntt
eedd

      
      

      
      

      
      

      
      

      
      

    
RR

oouu
nndd

  HH
aann

ddrr
aaii

ll

440066663344

660066998888

Q
ui

ck
 S

lid
e

KKii
tt  CC

oonn
ttee

nntt
ss 2

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

162723 1 VR453/454 Handrail Bracket Top Plate

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

352621 1 VR454 Handrail Bracket Post Mount Plate

306693 1 1/4" Stainless Steel Split Lock Washer

349002 1 1/4-20 x 3/4" Socket Head Cap Screw - Stainless Steel

138930 1 Steel Plug

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

352620 1 VR453/454 Handrail Bracket Top Plate (Round)

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

352621 1 VR454 Handrail Bracket Post Mount Plate

306693 1 1/4" Stainless Steel Split Lock Washer

349002 1 1/4-20 x 3/4" Socket Head Cap Screw - Stainless Steel

138930 1 Steel Plug

Part # Qty Description

405349 1 1/4"-20 x 2" Phillips Drive Flat Head Screw - 316SS

626101 2 Quick Slide Flat Top Plate Nut - Gen 2

605955 1 Alum Handrail Quick Slide Bracket

631882 Quick Slide Flat Top Screw Black Anodized - Gen 2

637106 Quick Slide Flat Top Screw Clear Anodized - Gen 2

399218 1 VR453/454 Handrail Bracket Pillar Stem

399215 1 VR453/454 Handrail Bracket Base Stem

352621 1 VR454 Handrail Bracket Post Mount Plate

306693 1 1/4" Stainless Steel Split Lock Washer

349002 1 1/4-20 x 3/4" Socket Head Cap Screw - Stainless Steel

138930 1 Steel Plug

440055334488

S
td

 F
la

t

PPoo
sstt

  MM
oouu

nntt
eedd

      
      

      
      

      
      

      
      

      
      

      
SStt

aann
ddaa

rrdd
  HH

aann
ddrr

aaii
ll

S
td

 R
ou

nd

PPoo
sstt

  MM
oouu

nntt
eedd

      
      

      
      

      
      

      
      

      
      

    
RR

oouu
nndd

  HH
aann

ddrr
aaii

ll

440066663344

660066998888

Q
ui

ck
 S

lid
e

KKii
tt  CC

oonn
ttee

nntt
ss 2

Post Side Mounted
Flat Handrail Bracket
PN: 405348

Post Side Mounted
Round Handrail Bracket
PN: 406634

Wall Mounted Handrail Brackets

Post Mounted Handrail Brackets

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023
4© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail 4© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023



Part # Qty Description

459277 1 1/4-20 x .575" Reduced Head 6061 82* Screw

626101 2 Quick Slide Flat Top Plate Nut - Gen 2

605955 1 Alum Handrail Quick Slide Bracket

631882 Quick Slide Flat Top Screw Black Anodized - Gen 2

637106 Quick Slide Flat Top Screw Clear Anodized - Gen 2

623897 1 Alum Glass Handrail Adjust Stem

623896 1 Alum Glass Handrail Bracket Stem

623801 1 Set Screw 10-32 x 1/8" Stainless

451564 1 Gasket Combined .781 ID x 1.94 OD x .090 THK

451565 1 Gasket .51 ID x 1.94 OD x .090 THK

439457 1 2" Interior Standoff Pin End Cap

Part # Qty Description

459277 1 1/4-20 x .575" Reduced Head 6061 82* Screw

667956 1 Alum Glass Handrail Flat Bracket

623897 1 Alum Glass Handrail Adjust Stem

623896 1 Alum Glass Handrail Bracket Stem

623801 1 Set Screw 10-32 x 1/8" Stainless

451564 1 Gasket Combined .781 ID x 1.94 OD x .090 THK

451565 1 Gasket .51 ID x 1.94 OD x .090 THK

439457 1 2" Interior Standoff Pin End Cap

Part # Qty Description

459277 1 1/4-20 x .575" Reduced Head 6061 82* Screw

623914 1 Alum Glass Handrail Round Rail Bracket

623897 1 Alum Glass Handrail Adjust Stem

623896 1 Alum Glass Handrail Bracket Stem

623801 1 Set Screw 10-32 x 1/8" Stainless

451564 1 Gasket Combined .781 ID x 1.94 OD x .090 THK

451565 1 Gasket .51 ID x 1.94 OD x .090 THK

439457 1 2" Interior Standoff Pin End Cap

2

Q
ui

ck
 S

lid
e

KKii
tt  CC

oonn
ttee

nntt
ss

A
L 

 S
td

 F
la

t

GG
llaa

ssss
  MM

oouu
nntt

eedd
  SS

ttaa
nndd

aarr
dd  

HH
aann

ddrr
aaii

ll  --
  AA

lluu
mm

iinn
uumm

A
L 

 S
td

 R
ou

nd

GG
llaa

ssss
  MM

oouu
nntt

eedd
  RR

oouu
nndd

  
HH

aann
ddrr

aaii
ll  --

  AA
lluu

mm
iinn

uumm

Part # Qty Description

311039 1 1/4-20 x 1/2" Phillips Flat Head

162723 1 VR453/454 Handrail Bracket Top Plate

666022 1 Viewrail Glass Grab Rail Adjust Stem SS

666210 1 316SS Glass Handrail Adjust Stem

623801 1 Set Screw 10-32 x 1/8" Stainless

666211 1 316SS Glass Handrail Bracket Stem Collar

451564 1 Gasket Combined .781 ID x 1.94 OD x .090 THK

451565 1 Gasket .51 ID x 1.94 OD x .090 THK

667145 1 SS Glass Handrail Cap Connector

661106 1 316SS 2" Standoff Pin End Cap

Part # Qty Description

311039 1 1/4-20 x 1/2" Phillips Flat Head

666023 1 316SS Glass Handrail Bracket Round Top Plate

666022 1 Viewrail Glass Grab Rail Adjust Stem SS

666210 1 316SS Glass Handrail Adjust Stem

623801 1 Set Screw 10-32 x 1/8" Stainless

666211 1 316SS Glass Handrail Bracket Stem Collar

451564 1 Gasket Combined .781 ID x 1.94 OD x .090 THK

451565 1 Gasket .51 ID x 1.94 OD x .090 THK

667145 1 SS Glass Handrail Cap Connector

661106 1 316SS 2" Standoff Pin End Cap

GGllaassss  HHaannddrraaiill  BBrraacckkeett

S
S

  S
td

 F
la

t

GG
llaa

ssss
  MM

oouu
nntt

eedd
  SS

ttaa
nndd

aarr
dd  

HH
aann

ddrr
aaii

ll  --
  SS

ttaa
iinn

llee
ssss

  SS
ttee

eell

GGllaassss  HHaannddrraaiill  BBrraacckkeett

S
S

  S
td

 R
ou

nd

GG
llaa

ssss
  MM

oouu
nntt

eedd
  RR

oouu
nndd

      
      

      
  

HH
aann

ddrr
aaii

ll  --
  SS

ttaa
iinn

llee
ssss

  SS
ttee

eell

Part # Qty Description

459277 1 1/4-20 x .575" Reduced Head 6061 82* Screw

626101 2 Quick Slide Flat Top Plate Nut - Gen 2

605955 1 Alum Handrail Quick Slide Bracket

631882 Quick Slide Flat Top Screw Black Anodized - Gen 2

637106 Quick Slide Flat Top Screw Clear Anodized - Gen 2

623897 1 Alum Glass Handrail Adjust Stem

623896 1 Alum Glass Handrail Bracket Stem

623801 1 Set Screw 10-32 x 1/8" Stainless

451564 1 Gasket Combined .781 ID x 1.94 OD x .090 THK

451565 1 Gasket .51 ID x 1.94 OD x .090 THK

439457 1 2" Interior Standoff Pin End Cap

Part # Qty Description

459277 1 1/4-20 x .575" Reduced Head 6061 82* Screw

667956 1 Alum Glass Handrail Flat Bracket

623897 1 Alum Glass Handrail Adjust Stem

623896 1 Alum Glass Handrail Bracket Stem

623801 1 Set Screw 10-32 x 1/8" Stainless

451564 1 Gasket Combined .781 ID x 1.94 OD x .090 THK

451565 1 Gasket .51 ID x 1.94 OD x .090 THK

439457 1 2" Interior Standoff Pin End Cap

Part # Qty Description

459277 1 1/4-20 x .575" Reduced Head 6061 82* Screw

623914 1 Alum Glass Handrail Round Rail Bracket

623897 1 Alum Glass Handrail Adjust Stem

623896 1 Alum Glass Handrail Bracket Stem

623801 1 Set Screw 10-32 x 1/8" Stainless

451564 1 Gasket Combined .781 ID x 1.94 OD x .090 THK

451565 1 Gasket .51 ID x 1.94 OD x .090 THK

439457 1 2" Interior Standoff Pin End Cap

2

Q
ui

ck
 S

lid
e

KKii
tt  CC

oonn
ttee

nntt
ss

A
L 

 S
td

 F
la

t

GG
llaa

ssss
  MM

oouu
nntt

eedd
  SS

ttaa
nndd

aarr
dd  

HH
aann

ddrr
aaii

ll  --
  AA

lluu
mm

iinn
uumm

A
L 

 S
td

 R
ou

nd

GG
llaa

ssss
  MM

oouu
nntt

eedd
  RR

oouu
nndd

  
HH

aann
ddrr

aaii
ll  --

  AA
lluu

mm
iinn

uumm

Part # Qty Description

311039 1 1/4-20 x 1/2" Phillips Flat Head

162723 1 VR453/454 Handrail Bracket Top Plate

666022 1 Viewrail Glass Grab Rail Adjust Stem SS

666210 1 316SS Glass Handrail Adjust Stem

623801 1 Set Screw 10-32 x 1/8" Stainless

666211 1 316SS Glass Handrail Bracket Stem Collar

451564 1 Gasket Combined .781 ID x 1.94 OD x .090 THK

451565 1 Gasket .51 ID x 1.94 OD x .090 THK

667145 1 SS Glass Handrail Cap Connector

661106 1 316SS 2" Standoff Pin End Cap

Part # Qty Description

311039 1 1/4-20 x 1/2" Phillips Flat Head

666023 1 316SS Glass Handrail Bracket Round Top Plate

666022 1 Viewrail Glass Grab Rail Adjust Stem SS

666210 1 316SS Glass Handrail Adjust Stem

623801 1 Set Screw 10-32 x 1/8" Stainless

666211 1 316SS Glass Handrail Bracket Stem Collar

451564 1 Gasket Combined .781 ID x 1.94 OD x .090 THK

451565 1 Gasket .51 ID x 1.94 OD x .090 THK

667145 1 SS Glass Handrail Cap Connector

661106 1 316SS 2" Standoff Pin End Cap

GGllaassss  HHaannddrraaiill  BBrraacckkeett

S
S

  S
td

 F
la

t

GG
llaa

ssss
  MM

oouu
nntt

eedd
  SS

ttaa
nndd

aarr
dd  

HH
aann

ddrr
aaii

ll  --
  SS

ttaa
iinn

llee
ssss

  SS
ttee

eell

GGllaassss  HHaannddrraaiill  BBrraacckkeett

S
S

  S
td

 R
ou

nd

GG
llaa

ssss
  MM

oouu
nntt

eedd
  RR

oouu
nndd

      
      

      
  

HH
aann

ddrr
aaii

ll  --
  SS

ttaa
iinn

llee
ssss

  SS
ttee

eell

Flat Glass Mount
Handrail Bracket
Aluminum
PN: 668092

Flat Glass Mount
Handrail Bracket
Stainless Steel
PN: 668084

Round Glass Mount
Handrail Bracket
Aluminum 
PN: 623916

Round Glass Mount
Handrail Bracket
Stainless Steel
PN: 666672

Glass Mounted Handrail Brackets

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023
5© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail 5© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023



Post Transition Handrail Bracket
PN: 491783

Part # Qty Description

138226 1 304SS - Postside Handrail Bracket

242693 2 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

264103 1 VR461 Adjustable Postside Dome

306693 1 1/4" Stainless Steel Split Lock Washer

177212 1 1/4-20 x 5/8" Socket Head Cap Screw - Stainless Steel

138930 1 Steel Plug

Part # Qty Description

526201 1 Quick Slide Nut Retainer

322905 1 Quick Slide - Adjustable Handrail Bracket

526200 2 1/4-20 x .468" Reduced Head 6061 82* Screw

264103 1 VR461 Adjustable Postside Dome

242693 2 1/4"-20 x 3/8" BTN SOC CAP 18-8 Stainless - Electropolished

306693 1 1/4" Stainless Steel Split Lock Washer

177212 1 1/4-20 x 5/8" Socket Head Cap Screw - Stainless Steel

138930 1 Steel Plug

SSttaannddaarrdd  PPoossttssiiddee  HHaannddrraaiill  BBrraacckkeett

KKii
tt  CC

oonn
ttee

nntt
ss

QQuuiicckk  SSlliiddee  PPoossttssiiddee  HHaannddrraaiill  BBrraacckkeett

KKii
tt  CC

oonn
ttee

nntt
ss

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023
6© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail 6© 2023 VIEWRAIL   All Rights Reserved ∙ (866) 261-8013 ∙ viewrail.com ∙ For Helpful Tutorials go to www.youtube.com/viewrail

Standard Handrail Bracket Diagrams V2   Modified: 10/30/2023


